
SAP ABAP table BAPIHR1005 {Infotype 1005: Planned Compensation}

BAPIHR1005

CLIENT [CLNT (3)]

PLAN_VER [CHAR (2)]

OBJ_TYPE [CHAR (2)]

INFOTYPE [CHAR (4)]

PL_STATUS [CHAR (1)]

COUNTRY_GROUPING [CHAR (2)]

TYPE [CHAR (2)]

AREA [CHAR (2)]

CURRENCY [CUKY (5)]

COMPENSATION [CHAR (1)]

T000

MANDT [CLNT (3)]

 BAPIHR1005-CLIENT = T000-MANDT 

0..N

0..N

T500L

MOLGA [CHAR (2)]

 BAPIHR1005-COUNTRY_GROUPING = T500L-MOLGA 
0..N

0..N

T510A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFAR [CHAR (2)]

 BAPIHR1005-TYPE = T510A-TRFAR 
0..N

0..N

T510G

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFGB [CHAR (2)]

 BAPIHR1005-AREA = T510G-TRFGB 
0..N

0..N

T710F

MANDT [CLNT (3)]

FREQU [CHAR (1)]

 BAPIHR1005-COMPENSATION = T710F-FREQU 
0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 BAPIHR1005-OBJ_TYPE = T778O-OTYPE 

0..N

0..N

T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 BAPIHR1005-PLAN_VER = T778P-PLVAR 

0..N

0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 BAPIHR1005-PL_STATUS = T778S-ISTAT 

0..N

0..N

T778T

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 BAPIHR1005-INFOTYPE = T778T-INFTY 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BAPIHR1005-CURRENCY = TCURC-WAERS 

0..N

0..N


